
0 3 3 2

3 3 2
３３２ ÷ １０００ ＝

3 3 2
３３２ ÷ １００ ＝

（うすい文字は、しっかりなぞりましょう）

３３２ ÷ １０ ＝ 3 3 2

0 7 1 5

２  ・３３２を　　　　　　　　 にすることを、式で表しましょう。

7 1 5
７１５ ÷ １０００ ＝

７１５ ÷ １００ ＝

7 1 5

7 1 5

日にち：　　　月　　　日

名まえ

1  ・７１５を　　　　　　　　 にすることを、式で表しましょう。

（うすい文字は、しっかりなぞりましょう）

７１５ ÷ １０ ＝ ７１.５

③ 確認
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0 3 3 2

3 3 2
３３２ ÷ １０００ ＝ ０.３３２

3 3 2
３３２ ÷ １００ ＝ ３.３２

（うすい文字は、しっかりなぞりましょう）

３３２ ÷ １０ ＝ ３３.２ 3 3 2

0 7 1 5

２  ・３３２を　　　　　　　　 にすることを、式で表しましょう。

7 1 5
７１５ ÷ １０００ ＝ ０.７１５

７１５ ÷ １００ ＝ ７.１５

7 1 5

7 1 5

日にち：　　　月　　　日

名まえ

1  ・７１５を　　　　　　　　 にすることを、式で表しましょう。

（うすい文字は、しっかりなぞりましょう）

７１５ ÷ １０ ＝ ７１.５

③ 確認 答え
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